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61 348 Service Operations Management
Midterm Exam
Short-type Essay Questions:

1. “Service is heterogeneous”. Could you explain this statement? How can you turn service into a more homogeneous structure? What are the advantage(s) of a homogeneous service? (3 Points)
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
2. What is a “Service Blueprint”? What are the advantage(s) of having Service Blueprints? (2 Points)
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
3. What are the Core Product and the Core Service in a typical hotel? (2 Points)
--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
4. What are the competitive advantages of Hillside Hotel compared to their main rivals (i.e. competitors)? (3 Points)
--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
5. Define Causal Forecating Techniques? (2 Points)
-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
6. “Operational budgets shall, if possible, be prepared from bottom to top”. Do you agree on this statement? Why? Why not? (2 Point)
------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
7. What are the components of “Service Delivery System”? (2 Points)
------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

8. What are the different variables that might shapen Guest Expectations? (2 Points)

-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
Problem Solving:

1. The following table shows the number of Guest Nights, Average Bed Price, and Total Room Revenue of Hillside Hotel for the last ten years. Use these data to answer the underneath questions. 

	Year
	Guest Nights
	Average Bed Price
	Revenue
	Triple Moving Average

	
	(1)
	(2)
	(1) * (2)
	

	
	
	
	
	

	1
	5,810
	70.25
	408,152.50
	 

	2
	6,020
	71.36
	429,587.20
	 

	3
	6,125
	72.33
	443,021.25
	 

	4
	6,098
	74.50
	454,301.00
	 

	5
	6,112
	74.09
	452,838.08
	 

	6
	6,523
	75.11
	489,942.53
	 

	7
	6,750
	75.95
	512,662.50
	 

	8
	6,940
	76.42
	530,354.80
	 

	9
	7,130
	76.53
	545,658.90
	 

	10
	7,245
	76.80
	556,416.00
	 

	11
	 
	 
	 
	 


a) Forecast demand (in Guest Nights) for the 11th year using the Triple Moving Average Growth Method. (Show all necessary calculations) (2 Points)
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

b) Now use the regression equation: Y = 164.406 * X + 5,571.0667 to forecast the guest nights for the 11th year (1 Point)

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

c) Use the regression equation Y = 0.73309 * X + 70.302 to estimate the Average Bed Price (ADR) for the 11th year. (1 Point)

---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
d) Now calculate the Total Room Revenue (do not forecast) for the 11th year using the above results found from parts b) & c). (1 Point)
---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
2. ABC company is a major Food supplier of Hillside Hotel. Recently, they started receiving complaints from Hillside stating that they are no more receiving poultry in the appropriate weight already agreed upon (according to a current agreement, all poultry shall have a weight of at least 2 Kg). In this regard, ABC company decided to elaborate on this issue. Randomly, they took a daily sample of 25 chickens for 10 successive days and tried to come up with those sample’s average weight and average range weight (all in Kg) as depicted in the underneath table:
	Sampling Day
	Average Chicken Weight
	Range (Highest - Lowest)
	# of observations

	
	(Kg.)
	(Kg.)
	

	
	
	
	

	1
	1.96
	0.25
	25

	2
	2.34
	0.14
	25

	3
	2.05
	0.06
	25

	4
	1.94
	0.18
	25

	5
	1.99
	0.30
	25

	6
	2.12
	0.22
	25

	7
	2.15
	0.19
	25

	8
	2.23
	0.06
	25

	9
	1.89
	0.08
	25

	10
	2.02
	0.15
	25


a) Calculate the Average Sample Mean (ASM). (1 Point)

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

b) Calculate the Average Range. (1 Point)
--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

c) Calculate the Upper Control Limit (UCL) & Lower Control Limit (LCL) of the R-Chart. (1 Point)

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

d) Calculate the Upper Control Limit (UCL) & Lower Control Limit (LCL) of the X-Chart. (1 Point)

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

e) Draw the R-Chart. (2 Points)

f) Draw the X-Chart. (2 Points)

g) What would you comment (i.e. Infer) from the findings of the R & X Charts? (2 Points)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
Good Luck!
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